ALPOLIC and ALPOLIC/FR (FIRE RESISTIVE)
COMPOSITE WALL PANEL SYSTEMS FOR
MISSILE IMPACT

SMALL
GENERAL NOTES

THESE ALPOLIC AND ALPOLIC/FR COMPOSITE PANELS SHALL BE USED FOR WALL CONSTRUCTION,
SOFITS, AND OTHER EXTERIOR DETAILS WHOSE REQUIREMENTS FOR POSITIVE AND NEGATIVE
PRESSURES ARE WITHIN THEN VALUES STATED IN NOTE 2 OF THIS DRAWING. EACH ACTUAL WALL
PROJECT SHALL BE CONSTRUCTED USING THE DETAILS SHOWN ON THESE DRAWINGS AS MINIMUM
REQUIRED SPECIFICATIONS
2. THE WALL DESIGN ALLOWABLE PRESSURES FOR THESE WALL PANEL SYSTEMS ARE:
2.1. KISTLER McDOUGALL EXTRUSIONS: + 153 PSF/ -153 PSF
2.2. SAF METAL FABRICATION EXTRUSIONS: + 70 PSF/-90 PSF.

MATERIAL SPECIFICATIONS:

3. THESE ALPOLIC and ALPOLIC/fr COMPOSITE WALL PANEL SYSTEMS ARE TESTED
IN ACCORDANCE WITH THE FOLLOWING PROTOCOLS PER THE CURRENT EDITION OF THE FLORIDA BUILDING CODE:

TAS-201-94, IMPACT TEST, SMALL MISSILE
TAS-202-94, UNIFORM STATIC AIR PRESSURE TEST
TAS-203-94, CYCLIC WIND PRESSURE TEST

AND THEY SHALL BE INSTALLED AS SHOWN IN THESE APPROVED DRAWINGS.

ALUMINUM EXTRUSIONS

1. MATERIAL: M2, F2, A2, HS, and HR ARE EXTRUDED ALUMINUM ALLQOY 6063 WITH A T6 TEMPER By Kistler McDougall.

2. MATERIAL: 37893 (CAY-1009) TEE, 37894 (CAY-1010) FEMALE, 37899 (CAY-1011) MALE, 385008 (CAY-1012) STIFFENER
AND 38499A (CAY-1013) RETAINER ARE EXTRUDED ALUMINUM ALLOY 6063 WITH A T6 TEMPER By SAF Metal Fabication
(FORMALLY CAY ARCHITECTURAL PRODUCTS).

3. FINISH: MILL FINISH

COMPOSITE PANEL

ALPOLIC AND ALPOLIC/FR ALUMINUM COMPOSITE METAL PANEL 4MM THICK (0.157") AND 6MM THICK (0.236")
AS MANUFACTURED BY MITSUBISHI PLASTICS COMPOSITES AMERICA, INC., CHESAPEAKE, VA

2. CORE: THERMOPLASTIC MATERIAL WHICH IN COMPOSITE ASSEMBLY MEETS
PERFORMANCE CHARACTERISTICS SPECIFIED.

FRAMING & ACCESSORIES

1. STEEL STUDS AND TRACKS: 16 GA. MIN. GALVANIZED STEEL WITH MIN. PROPERTIES OF 50 KSI YIELD, 65 KSI ULTIMATE.

STUD & TRACK FASTENERS: #12 x 1-1/2" HEX WASHER HEAD HEAVY DUTY TEKS 4, 4.5, OR 5 BY ITW BUILDEX SCREW OR
STUD & TRACK FASTENERS: #12 x 1-1/2" HEX WASHER HEAD TEKS SELECT BY ITW BUILDEX SCREW.

PANEL FASTENERS: #10 x 1" HEX WASHER HEAD ITW BUILDEX TEK SCREWS SPACED AT 16" O.C.

STIFFENER FASTENERS: #10 x 1" HEX WASHER HEAD ITW BUILDEX TEK SCREWS.

JOINT SILICONE: DOW CORNING #795 SILICONE SEALANT.

STRUCTURAL SILICONE: DOW CORNING #1199 SILICONE SEALANT.

BACKER ROD: 3/4" DIA. DENVER FOAM OPEN CELL BACKER ROD.

THE STRUCTURAL ADEQUACY OF THE 16 GA. GALVANIZED STEEL STUDS AND THE REST OF THE STRUCTURAL

FRAMING SUPPORTING THE METAL PANELS IS NOT PART OF THIS PRODUCT CONTROL APPROVAL
AND IT SHALL BE REVIEWED BY THE STRUCTURAL PLANS EXAMINER OF THE CORRESPONDING BUILDING DEPARTMENT.

no

® No ok w

Digitally
signed by

ﬂ!l‘ﬂ'!&'_@,

3. FACE SHEET: 0.020" ALUMINUM 3105-H14 ALLOY

4. FINISH: FLUROPOLYMER RESIN COATING.

5. MAXIMUM DIMENSIONS: 62" WIDE X 288" LONG

7. TECHNICAL DATA
DESCRIPTION TEST 4MM ALPOLIC 4MM ALPOLIC/fr 6MM ALPOLIC
SPECIFIC GRAVITY 1.38 1.90 1.23
WEIGHT 1.12 LB/SQ.FT 1.56 LB/SQ.FT 1.50 LB/SQ.FT
TENSILE STRENGTH ASTM E-8 7452 PSI 5693 PSI 5399 PSI
YIELD STRENGTH ASTM E-8 NDY NDY NDY
ELONGATION ASTM E-8 16% 8% 13%
PUNCHING SHEAR RESISTANCE (1"DIA.) ASTM D-732 4025 PS| 4637 PSI 2816 PSI
PUNCHING SHEAR MAX LOAD ASTM D-732 1920 PSI 2259 PS| 2121 LBS
BOND INTEGRITY VERTICAL PULL ASTM C-297 1806 PSI 427 PSI 1664 PSI
DRUM PEEL ASTM D-1781-76  33.6 IN-LB/IN 27.6 IN-LB/IN 33.6 IN-LB/IN
FLATWISE SHEAR ASTM C-273 1225 PSI 949 PSI 1195 PSI
RATE OF BURNING ASTM D-635 CC1 -
FLAME SPREAD INDEX ASTM E-84 00 00 00
SMOKE DEVELOPED INDEX ASTM E-84 00 10 10
SELF IGNITION TEMPERATURE ASTM D-1929 752°F 837°F 752°F
FLASH IGNITION TEMPERATURE ASTM D-1929 716°F 811°F 716°F
SURFACE FLAMMABILITY ASTM E-108-88 PASSED PASSED PASSED
SOUND TRANSMISSION ASTM E-413 STC-26 - STC-26

\\ ‘“.MES ‘s,
sSSeendoy, Robert )
< (72

S e

g
Fx7 No 49752 o2
.22 Amoruso

<l IS
: 3
B VSTaTE OF _.-‘ng Date.
%,9\ <, s AR /S PTC PRODUCT DESIGN GROUP, LLC
% SEA AR PO BOX 520775
KA ‘;’O = ﬁ\#e:\\‘ 2023.07.05 LONGWOOD, FLORIDA 32752
2, NAL
'I 5 .40.24 Phone: 321.690.1788,Fax: 321.690.1789)
. . Email: info@ptc-corp.com
1 1 —
-04'00 MITSUBISHI CHEMICAL AMERICA
TOLERANCES ARE:
FRACTIONS ~ DECIMALS  ANGLES ALPOLIC DIVISION
Robert J. Amoruso, P.E. ' o APPROVALS DATE
FL P.E. No. 49752 BRAT ALPOLIC and ALPOLIC/fr

R JAJ6/13/723] kg AN 1o, MITSURISHE CHEMICAL AMERICA)
R JA[4/14/17 N6 SHANeE 1D MITSURISHE CHEMICAL
R JA|4/24 /14|verate To currenT EDITION OF THE FBC

[SIEN[E) Fo) RN

R JA|6/10/12 [uPaTe T0 2010 FBC

MATERIAL

FINISH

ENGINEERING
MS

11/11/02

COMPOSITE WALL PANEL SYSTEMS

PROJ MGMT

TH 1/10/12 | EXTRUSION AND PANEL NOTE CHANGES

o)
m
=<

BY DATE CHANGE

DO NOT SCALE DRAWING

PRODUCTION

SIZE | CAGE CODE

B

DWG NO.

MPCA0002

REV
7

SCALE SHOWN

[seer 1 OF 11




15'-0 1/2"

FRAME OUTSIDE DIMENSION
” 149 1/2"
11/2 - s
FRAME INSIDE DIMENSION I
12
1/2" PANEL DIMENSION (| 1/7 PANEL DIMENSION /27 ||
~
= ADDITIONAL STUD @
- AT PANEL JOINT‘\ 4
I I I I [ I [ [ I [ I I 1 I
| (| (| \: 1 (| (! 1 (| |1 (| (| |1 |
| |1 |1 |1 |1 |1 |1 |1 |1 |1 |1 |1 |
i By ] B X X B X X X X o
‘Q;' | ||ST'FFENER/|| | || | || || | I | | N |
— | |1 |1 | |1 |1 |1 |1 |1 |1 |1 |1 |1 |
| (| (| | 1 (| (! 1 (| |1 (| (| |1 |
—--t—----++--+7r--—+t------+t---————f-----—tt--r-—4+—-—t+--—-- -+ - - -+ - —"
1 R £ £ B S R R 1
% S~ | |1 |1 | |1 |1 II |1 |1 |1 |1 |1 |1 |
> ~. | &% I B N 1 4/ 11 N I I I I | | |
= o ¥ 5. | | | STIFFENER (| | 1 (| (! 1 (| |1 (| (| |1 |
Y |2 = - | N /II | || | N || | | | | | |
~N | a o~ W o | |1 |1 | |1 |1 |1 |1 |1 |1 |1 |1 |1 |
Sl |2 — [ I I Y1 | QO A O [y A | A H O AR B SO |
| 2 o = % !l s+ o - vy 10— i - - 1+ -+ -+t 1l 1]
r| L = = | |1 |1 | |1 |1 |1 |1 |1 |1 |1 |1 |1 |
°|3 *|2 o pol R | | | | | 1.
= Ey
R P e S 1| I | i i i i D
= N | — |
E ey > @ | (| | 5 | 1 (| (! 1 (| |1 (| (| |1 | @
o | I I | I I I I I I I I N 1l | oPPOSITE
| | 1 | 1 | |1 | 1 | 1 |1 | 1 | 1 | 1 | 1 |1 |
E ] N iy i § iy - iy iy T
gz ||l |l ] A« 2| N | E | R N L
2 |
I 24 | I I N I I N I || I I N |
— o= | | (| | 1 (| (! 1 (| |1 (| (| |1 |
= | (| (| | 1 (| (! 1 (| |1 (| (| |1 |
‘ | I:\ |1 | |1 |1 |1 |1 |1 |1 |1 |1 |1 |
| I L L L] L] L L] L] L] L] Ly !
\ /
. 1
] ~ \/ OPPOSITE
~ < 2x6 — 16 GA. METAL STUDS @ - -
< 16 O0 S, Digitally signed
— “«:Q‘ s by Robert J PTC PRODUCT DESIGN GROUP, LLC
' Amoruso i — LONGVS(())OB[S EE(ZJ[F)JE)SA 32752
' ' ‘ FBPE C.A. NO. 25935
THE WOOD BUCK FRAME DETAILED IN THIS DRAWING Date: Por: 2180708 Fox 32100178
IS FOR TEST PURPOSES ONLY AND IS NOT INTENDED Sston 2023.07.05
AS A RECOMMENDATION FOR ACTUAL CONSTRUCTION. g 15.40:41 -04'00" Kistler McDougall
B MITSUBISHI CHEMICAL AMERICA
renons secws et ALPOLIC DIVISION
PANEL ELEVATION Rober . Amoruso, PE. A S T P R
FLP.E. No. 49752 SR ALPOLIC and ALPOLIC/fr
3/ " = 1 '_O" 7T TRJAT 6/13/23 |n:wlu-|m 'APOLC DNEOH
6 [RIAT 4/14/17 Iw ENGINEERING VS 111102 COM POSITE WALL PAN EL SYSTEMS
5 [RIA | #/28/14 [ oo v o e v FINISH
4 RJA 5/10/12 [r————— PROJ MGMT SéE CAGE CODE DWG NO. MPCAB002 R7EV
1/10/12 | owson o pes o awess
RSV I‘I:I /DAT/E CHANGE DO NOT SCALE DRAWING e SCALE SHOWN [sieer 2 OF 11




CONNECT WOOD BUCK FRAME
TOGETHER WITH (3) 5/16" DIA.
LAG BOLTS EACH CORNER (TYP.)

15/8"

L
15/8"

METAL STUD

15'-0 1/2"

WOOD BUCK FRAME

11/2"

14=9 1/2"

METAL STUD FRAME DIMENSION

11/2"

A\

6" 16 GA. GALV. METAL TRACK

TYPICAL TOP & BOTTOM

ADD A STUD AT

PANEL JOINT LOCATION

2 x 10 WOOD BUCK FRAME
/ AROUND OUTSIDE PERIMETER

AN

o
m
2

BY DATE

CHANGE DO NOT SCALE DRAWING

\
= /
<
Ll wn
= =
= =
b= a
X
S =
@ &
=) L
gl 8
(7]
. =
S B
7
© N
i
['s)
/
/
..
=
9 1/2” 1’_4" 11_4" 11_4" 1 1_4" 11_4" 1 1_4" 11_4" 1 1_4" 11_4" 1 1_4" 8"
| | | | | | |
e CENTE(RLIN§ DIM.
, . SSHES A, TP
27 3/4 6" x 1-5/8" 16 GA "o amss B
SS\L\Q’QM\E(ELLD s(w;s) i THE WOOD BUCK FRAME DETAILED IN THIS DRAWING IS FOR TEST PURPOSES
‘ RS ONLY AND IS NOT INTENDED AS A RECOMMENDATION FOR ACTUAL CONSTRUCTION.
; PTC PRODUCT DESIGN GROUP, LLC
_ _ .. . PO BOX 520775
o - iy — —
v « Digitally sighed by Y o 7 =it &
- A Phone: 321.690.1788,Fax: 321.690.1789
_ - RObert J AmOFUSO Email: info7@ptc-corp.c10m i
6 14 STUD FRAMING ELEVATION Date: 2023.07.05 I Kistler McDougall
— 15:40:56 -04'00" MITSUBISHT CHEMICAL AMERICA
3/4" =10 "RACTONS | DECHAS  ANGLES ALPOLIC DIVISION
Robert J. Amoruso, P.E. s o1t APPROVALS DATE
XXXt 005
FLP.E. No. 49752 ALPOLIC and ALPOLIC/fr
STEEL TRACK T TR0 ey o oo e ———| COMPOSITE WALL PANEL SYSTEMS
I—mnwmfn:m FINISH
i Ejﬁ ;;:;;:; prrg——— PROJ MGMT SIZE | CAGE CODE DWG NO. MPCAG002 REV
3 | TH | 1/10/12 | oomuson wo o o cmvess PRODUCTION B !

SCALE SHOWN

[sieer 3 OF 11




#12 x 1 1/2” HWH WOOD SCREW
@16” 0.C. TO MAIN STRUCTURE

ATTACH EACH STUD TO TRACK
W/ #12 x 1 1/2” HWH

ITW' BUILDEX TEK SCREWS
TWO (2) EA. SIDE

THE WOOD BUCK FRAME DETAILED IN THIS DRAWING
IS FOR TEST PURPOSES ONLY AND IS NOT INTENDED
AS A RECOMMENDATION FOR ACTUAL CONSTRUCTION.

2 X 10 WOOD BUCK FRAME
CONNECT FRAME TOGETHER WITH
(3) 5/16” DIA. LAG BOLTS
DOW CORNING *795 SILICONE

SEALANT & 3/4” DIA. OPEN CELL
BACKER ROD (TYPICAL)

T
9/16"

) —EE=

| /

]

#10 x 1” HWH TEK SCREW ~—1"

16" 0.C. TYPICAL EACH PANEL

4MM OR 6MM ALPOLIC—/

OR 4MM ALPOLIC/fr
ALUMINUM COMPOSITE
PANEL

=]
[%]

—<H

2 1/4"

HS EXTRUDED ALUMINUM
PANEL STIFFENER

DOW—CORNING #1199
SILICONE SEALANT

HR EXTRUDED ALUMINUM/

PANEL STIFFENER

MIN.

/

9"

l——2 1/4” MIN.——

T
] s 1| S
N SN
#12 x 1 1/2" HWH TEK SCREW

\_ A2 ALUMINUM

EXTRUSION

[

16” 0.C. (FASTEN TO STUDS)

PLASTIC SHIM SPACE
(AS REQUIRED)

6" X 16 GA.
GALV. STEEL STUD
16" 0.C.

@ DETAIL
4_ SCALE: 6" = 1’

#12 x 1 1/2” HWH TEK SPACE
16” 0.C. (FASTEN TO STUDS)

PLASTIC SHIM SPACE
(AS REQUIRED)

6" X 16 GA.
GALV. STEEL STUD
16" 0.C.

/“2°\ STIFFENER DETAIL

W SCALE: 6" = 1’

2 1/4"

MIN. M2 ALUMINUM
/ EXTRUSION

#10 x 1" HWH TEK SCREW
16" 0.C. TYPICAL EACH PANEL

(HEH— .

1/16" \
F2 ALUMINUM

]
1/2"

>
GIEmS)
LN

BACKER ROD |
AND SEALANT
6" X 16 GA.
GALV. STEEL STUD
16" O.C.

EXTRUSION

0 \
\ #12 x 1 1/2” HWH TEK SCREW

16" 0.C. (FASTEN TO STUDS)

PLASTIC SHIM SPACE
(AS REQUIRED)

7“3\ JOINT DETAIL

Digitally signed

W SCALE: 6" = 1’

RELLELLULLIP
e‘g% SMMES 470,
B AT ST AL
SESCENE% %, by Robert J

XS No 40752 o2 A

) 1. =2 AMOruso

= "’: M}ﬁ}/!* - PTC PRODUCT DESIGN GROUP, LLC

=31 ‘o= —y PO BOX 520775

=P ot s . LONGWOOD, FLORIDA 32752

f-%'. STAVE OF £ ws Date‘ r" FBPE C.A. NO. 25935

','; ,.(\'.. A" IS ,'é{)'e Phone: 321.690.1788,Fax: 321.690.1789

.%J{.‘L :.‘s- 1{2 “-\.9..-6\“@\ 202 3 .0 7 .05 Email: info@ptc-corp.com
g ONAL S 00" Kistler McDougall
T59ygpand 15:41:07 -04'00 istler McDouga
EEAEE:E;@ESE%E‘&ESEEETED CONTRACTRE. MITSUBISHI CHEMICAL AMERICA
Al
RObeI’t J AmOI’USO, PE FEAC"/[BI(Z)NS ?()E(CII\iIALg' /:N(i/LZES — — ALPOLIC DIVISION
XXXt 005
FL P.E. No. 49752 - ALPOLIC and ALPOLIC/fr

o 4/14”@- e e ———{ COMPOSITE WALL PANEL SYSTEMS
B [RJA [4/24,/ 14| UPonTe To CuRmenT EDimon oF e Fac FINISH
7 RIAG/T0/1alwem o mo e PROJ MGMT SIZE | CAGE CODE DWG NO PCAND02 REV
3 | TH [1/10/12] extrusin Ao paeL NOTE crances PRODUCTION 7
REV. | BY DATE CHANGE DONOT SCALE DRAWING SCALE SHOWNl |SHEET 4 OF 11




THE WOOD BUCK FRAME DETAILED IN THIS DRAWING
IS FOR TEST PURPOSES ONLY AND IS NOT INTENDED
AS A RECOMMENDATION FOR ACTUAL CONSTRUCTION.

2 X10 WOOD BUCK FRAME
CONNECT FRAME WITH
(3) 5/16” DIA. LAG BOLTS

DOW CORNING *795 SILICONE
SEALANT & 3/4” DIA. OPEN CELL
BACKER ROD (TYPICAL)

6” X 16 GA.
GALV. STEEL STUD
16" 0.C.

#12 x 1 1/2" HWH TEK SCREW
16" 0.C. (FASTEN TO STUDS)

SHIM AS REQUIRED

j ,
A2 ALUMINUM )
EXTRUSION 2 1/4
| MIN.
VN
—Srap- |,
I
V| 1

1/2"

\4MM OR 6MM ALPOLIC

OR 4MM ALPOLIC/fr
ALUMINUM COMPOSITE
PANEL

#10 x 1” HWH TEK SCREW
16" 0.C. TYPICAL EACH PANEL

@ DETAIL
5 SCALE: 6” = 1’

CENTERLINE OF  __| | CENTERLINE OF
METAL STUD PANEL JOINT
—1"—
6" x 16 GA.
GALV. STEEL STUD
16" 0.C.
#12 x 1 1/2" HWH TEK SCREW
16” 0.C. (FASTEN TO STUDS)
SHIM AS
REQUIRED
=
gm%: F2_ ALUMINUM
—] EXTRUSION
2 1/47 M2 ALUMINUM
MIN. EXTRUSION I
/*‘“ Hl 11/16
- - |
N I
—lfe

#10 x 1" HWH TEK SCREW
16” 0.C. TYPICAL EACH PANEL

“\I“ n.ﬂ'j"
U,
R CEN e 0

Digitally signed
AN \C VS . d-/_/é’a
No 49752 D% by Robert J

7 ,t "?J‘
Foes X

DOW CORNING *795 SILICONE
SEALANT & 3/4” DIA. OPEN CELL
BACKER ROD (TYPICAL)

/"5 "\ DETAIL Sk

PTC PRODUCT DESIGN GROUP, LLC

235
-~ Q".n' O =
= fef tx = A SCALE: 6" = 1’ S A | o\ G\OOD, FLORIDA 32752
£ —"+* £ Amoruso N e
6% : \ s : 55 r ' L Phone: 353250?1%3%353%35690.1789
- s, YOIANEZ ..' & . Email: info@ptc-corp.com
Sl o A Date:2023.07.05
')"'\‘, o ..“,..-" . . 1 1 ;
/G ,‘L@\.“, 15:41:20 -04'00 Kistler McDougall
035055500 §§E§%§§§g§gﬁﬁgﬁgg'ED CONTRACTHO. MITSUBISHI CHEMICAL AMERICA
ARE:
RObert J. AmOI’USO, P.E. FEA(;‘/[B!(Z)NS zzz"\;Angs /:N(i\;ZES — — ALPOLIC DIVISION
FL P.E. No. 49752 —_ SRR ALPOLIC and ALPOLIC/fr
z gjﬁﬁ%% e e e COMPOSITE WALL PANEL SYSTEMS
5 [RJAR/2471 mmmnmorn:m FINISH s Tz
4 RJA 6/10/12 PONTE T 2010 FO0 PROJ MGMT SIZE | CAGE CODE DWG NO. MPCAQD02 REV
3 | TH [1/10/12] aruson s e Nt cwoes PRODUCTION l
Rev | oY | owe CHANGE DONOT SCALE DRAWING SCALESHOWN] [sieer 5 OF 11




HS
1.500
.750 .750
¢ SYM.
| |
C | )
-093 \FULL R®
|il125
1.608 !
1.688
-063 X .125 R®
I |
! L | L
.080 | .250
BREAK CORNERS .015 R
EXCEPT AS NOTED
ACTUAL SIZE
DIE DATA
EST. AREA: .430 DIE SIZE: 6
EST. WEIGHT: .516 NO. HOLES: 1
EST. PERI.: EXT. LENGTH: 5 1/8” =1 @ 35
FACTOR: R/R:

1.600

1.080

.250

2.125
xruu R®
BREAK CORNERS .015 R
.090 TYPICAL METAL THICKNESS
ACTUAL SIZE
DIE DATA
EST. AREA: .465 DIE SIZE: 6
EST. WEIGHT: .558 NO. HOLES: 1
EST. PERI.: EXT. LENGTH: 5 1/8 = 1 @ 36’
FACTOR: R/R

| 1.500 |

\ 031 R.@

\) po Y
W\ RMES 2,
Sha SRUES Ay 'v,,'

e ,/'

@2

1.770
BREAK CORNERS .010 R
.100 WALL THICK TYPICAL
ACTUAL SIZE
DIE DATA
EST. AREA: .317 DIE SIZE: 6
EST. WEIGHT: .380 NO. HOLES: 1
EST. PERI.: 6.54 EXT. LENGTH:
FACTOR: 17 R/R: 51/8 =1 6@ 5%

Digitally signed by
Robert J Amoruso
' Date: 2023.07.05
S 15:41:32-04'00°

\)
o

y——7v ==
r" FBPE C.A. NO. 25935
Phone: 321.690.1788,Fax: 321.690.1789

PTC PRODUCT DESIGN GROUP, LLC
PO BOX 520775
LONGWOOD, FLORIDA 32752

Email: info@ptc-corp.com

[(SIRN]8] [o) RN

m

2]

Kistler McDougall
[ONLESS OTHERWISE SPECIFIED CONTRACT NO.
Robert J. Amoruso, P.E. DINENSIONS ARE N NGHES MITSUBISHI CHEMICAL AMERICA
) + ) APPROVALS DATE

TR T SIS GO R 7z S ALPOLIC and ALPOLIC/fr

47117 | S T S A COMPOSITE WALL PANEL SYSTEMS
UPDATE T CURRENT EDITION OF THE FOC | ————————————————— MS 11111/02

PROJ MGMT SIZE | CAGE CODE DWG NO. REV
MPCA0002 7
e DO NOT SCALE DRAWING e SCALE sHOWN [seer 6 OF 11




1.500

.562 |.188 .750

.063
063 094 R | .063
.063
:_ ;— ; _\( | 5. l_
1
I .030 R—>/ | \-030 R 'F%ﬁ. R
.063
T .094 R |
CRIICAL 1377
1.251%
CRITICAL !
_ 125
.6875 .6875
ACTUAL SIZE
BREAK SHARP CORNERS .005 R
DIE DATA
EST. AREA: .275 DIE SIZE: 6

EST. WEIGHT: .330 NO. HOLES: 1
EST. PERI.: 5.831 EXT. LENGTH: 4 1/2 = 1- 46
FACTOR: 18 R/R: 5 1/8” = 1- 62’

2.438
.688 250 -250
.188
)
.063 062 R 12 ’ﬂ
\J | t
! ! | [ .3‘14
214 !
— C | i
.276
2 N 1 |
.063 |
CRITCAL 1.377 — 083 k. 078 k.  GRoovE
CRITICAL .031 R. 6 PLACES 1.176
.125 .750 375 .500
ACTUAL SIZE
BREAK SHARP CORNERS .010R
DIE DATA
EST. AREA: .484 DIE SIZE: 6

EST. WEIGHT: .581

EST. PERI.: 9.900
FACTOR: 17

NO. HOLES: 1

EXT. LENGTH: 5 1/8 = 1@34’

R/R

\ﬂ!IM!!M
FEQ

\\\\‘ yRMES 4"'1,'

Robert J. Amoruso, P.E.

FL P.E. No. 49752

R JA6/13/23

R JA[4/14/17 |NAE CHANGE TO MITSUBISHT CHEMICAL

RJA4/24/14

Digitally signed by

Robert J Amoruso
Date: 2023.07.05
15:41:47 -04'00"

PTC PRODUCT DESIGN GROUP, LLC
PO BOX 520775
— — _ /————y LONGWOOD, FLORIDA 32752
r' ‘ FBPE C.A. NO. 25935
Phone: 321.690.1788,Fax: 321.690.1789)
Email: info@ptc-corp.com

NAME CHANGE TO MITSUBISHI CHEMICAL AMERICA,|
ALPOLIC DIVISION

COMPOSITES AMERICA:

UPDATE TO CURRENT EDITION OF THE FBC

R JA| 6/10/12 |vPaTE To 200 Fac

wlalulo~d

TH 1/10/12 | EXTRUSION AND PANEL NOTE CHANGES

Eel
m
=<

BY

DATE CHANGE

Kistler McDougall
ggh;gﬁg.ggziﬁﬁ'&ﬁﬁzﬁg ® CONTRACTNO MITSUBISHI CHEMICAL AMERICA
TOLERANCES ARE

FRACTIONS ~ DECIMALS  ANGLES ALPOLIC DIVISION
1132 XXt 01t AR
0K+ 005 APPROVALS DATE
MATERIAL DRAWN ALPOLIC and ALPOLIC/fr
EROEEG COMPOSITE WALL PANEL SYSTEMS
— MS | 11111102
PROJ MGMT SIZE | CAGE CODE DWG NO. REV
MPCA0002 7
PRODUCTION
DONOT SCALE DRAWING SCALE SHOWNl |SHEET 7 OF 11




15'-0 1/2"

FRAME OUTSIDE DIMENSION
\ 14-9 1/2"
11/2 — / 11/2"
FRAME INSIDE DIMENSION ]
12/
/2" PANEL DIMENSION (| 1/ PANEL DIMENSION /27 |\
o
= ADDITIONAL STUD @
- AT PANEL JOINT‘\ 9
| 1 1 | T 1 [ T 1 1 1 1 [ |
| [ [ \: (I [ [l (I [ (! [ [ |1 |
| (| (| |1 (| (! |1 (| |1 (| (| |1 |
oA |t N N A A | AN | NN | R
‘Q;' | ||ST'FFENER/|| | I || || I || ] || || I |
— | (| (| | |1 (| (! |1 (| |1 (| (| |1 |
| [ [ | (I [ [l (I [ (! [ [ |1 |
—--4—--— -+t --H - -—--—tt-— -~ — - —ft4{— - —F— - —— 4= - —— -t -—— - -+ --—— -~ —I--—H
o T T A
% S R | (| (| | |1 (| a (! |1 (| |1 (| (| |1 |
o =. | o % | I N | 1 \9/ 11 | I | I I I |
= o ¥ 5 N | | | STIFFENER [ | (I [ [l (I [ (! [ [ |1 |
g |2 = - I /II ! N I I N I I I I | | !
R =) o~ W = | (| (| | |1 (| (! |1 (| |1 (| (| |1 |
S |2 i I N I ot |y I U N IO DU U N [ [ Y AU (AN [ ENNR P N AR B IR |
o e % l  _J: o __+__9y - -+ 4 I-— - - - - - - 44 - -  __ 1 1| ___1]
Tl o T w = | I I | I I I I Il I I I I |
“lg = I L
s s o7 GO S 1| I | i i i i D
= N | —
E oy > w | (| | 10 | |1 (| (! |1 (| |1 (| (| |1 | W
0 | || R || || | || || N || || I 1l | oPPOSITE
| [ [ | |1 [ [ |1 [ | | [ [ |1 |
= i NI } } ] } H
JeB |l Ll AR SR i .
:T <Z( ﬁ | (! | | |1 (| I | |1 (| |1 (| (| |1 |
— o= | | [ | (I [ [l (I [ (! [ [ |1 |
o | [ [ | (I [ |1 (I [ (! [ [ |1 |
‘ | | :\ (| | |1 (| (! |1 (| |1 (| (| |1 |
| b b b ] b b b b b by
\ /
2 \/ 1 .. .
N N 26 - 16 GA METAL STUDS @ OPPOSITE Digitally signed by
- Robert J Amoruso PTG PRODUCT DESIGN GROUP, LG
PO BOX 520775
—J 4
; Date: 2023.07.05 S E oo
THE WOOD BUCK FRAME DETAILED IN THIS DRAWING R RTIR by a3 o Pon: 260,70 216801718
IS FOR TEST PURPOSES ONLY AND IS NOT INTENDED U ONAL 15:42:00-04'00
AS A RECOMMENDATION FOR ACTUAL CONSTRUCTION. SAF METAL FABRICATION
éﬁgﬁ%&’ggﬁgﬁﬁgﬁ%ﬂED CONTRACTNO. MITSUBISHI CHEMICAL AMERICA
FRACTIONS bECIMALS ANGLES ALPOLIC DIVISION
PAN EL ELEVAT'ON Robert J. Amoruso, PE. ez Xx LAt APPROVALS DATE
FL PE. No. 49752 B ALPOLIC and ALPOLIC/r
3/4" = 1'-0" T TRIR 6715723 T o . . s COMPOSITE WALL PANEL SYSTEMS
6 [RIAT 4/14/17 |wae cwe 1o ursumsn cvmon. cowposes werc ENGINEERING MS 11/11/02
5 RJA 4/24/14 T e e e PROJ MGMT SIZE | CAGE CODE DWG NO. REV
4 |RJA| 8/10/12 |veoae 2o rec B MPCA0002 7
REV 'L'IV'I 1/;:'(E1z “::::e:lm“ DO NOT SCALE DRAWING e SCALE_ SHOWN [sieer 8 OF 11




#12 x 1 1/2” HWH WOOD SCREW
@16” 0.C. TO MAIN STRUCTURE

ATTACH EACH STUD TO TRACK
W/ #12 x 1 1/2" HWH

ITW BUILDEX TEK SCREWS
TWO (2) EA. SIDE

THE WOOD BUCK FRAME DETAILED IN THIS DRAWING
IS FOR TEST PURPOSES ONLY AND IS NOT INTENDED
AS A RECOMMENDATION FOR ACTUAL CONSTRUCTION.

2 X 10 WOOD BUCK FRAME
CONNECT FRAME TOGETHER WITH
(3) 5/16” DIA. LAG BOLTS
DOW CORNING *795 SILICONE

SEALANT & 3/4” DIA. OPEN CELL
BACKER ROD (TYPICAL)

T
9/16"
|

#10 x 17 HWH TEK SCREW/

16” 0.C. TYPICAL EACH PANEL

4MM OR 6MM ALPOLIC—/

A

—<HH

__1 L—

g

:::::9\
#12 x 1 1/2" HWH TEK SCREW

16” 0.C. (FASTEN TO STUDS)

PLASTIC SHIM SPACE
(AS REQUIRED)

37893 TEE
ALUM. EXTRUSION

OR 4MM ALPOLIC/fr 2 1/4” SHOP ATTACHED
ALUMINUM COMPOSITE MIN. TO PANEL (TYP.)
PANEL
6" X 16 GA.
GALV. STEEL STUD
16” 0.C.
w SCALE: 6" = 1’
385008
STIFFENER §
——
ATTACH STIFFENER TO PERMETER —— | .
EXTRUSIONS ON EACH END WITH #12 x 1 1/27 HWH TEK SPACE
410 x 1" HWH TEK SCREW ) 16" 0.C. (FASTEN TO STUDS)
_ * /
D oo S a2 | PLASTIC SHIM SPACE
| (AS REQUIRED)
38499A / 6" X 16 GA.
GALV. STEEL STUD
RETAINER CALV. ST
.
2 1/4” MIN——]

/ "2\ STIFFENER DETAIL

\y SCALE: 6" = 1’

2 M|1N/ b 37899 MALE
: ALUM. EXTRUSION
SHOP ATTACHED
TO PANEL (TYP.)
410 x 17 HWH TEK SCREW
16" 0.C. TYPICAL EACH PANEL
\ Hhg g
tl- 1 \
/) #12 x 1 1/2” HWH TEK SCREW

1t

16” 0.C. (FASTEN TO STUDS)

<
N
7S
B _H
HB g

| LN

Ht

BACKER ROD

AND SEALANT = |t 1/16”

37894 FEMALE

PLASTIC SHIM SPACE
(AS REQUIRED)

6" X 16 CA.
GALV. STEEL STUD
16” 0.C.

ALUM. EXTRUSION
SHOP ATTACHED
TO PANEL (TYP.)

Digitally signed

7“3\ JOINT DETAIL

AL ELLET L)
\\““:\i"-?ﬁ ES ”u,,' 9 SCALE: 6" = 1’
SlagEveYe, by Robert J
SEUCENgR% % DY Robert

-?‘i:')“ No 40752 "-(‘Fi %

Sain a8 322 Amoruso

= 1;'.: MW* g PTG PRODUCT DESIGN GROUP, LLC

:“ ‘.- - ':m s : S ————— LONGVSCOJOBDO)EECZJ?JE)?\ 32752

:.% -, VSTAVE OF Sus Date' r" FBPE C.A. NO. 26935

'o.; ‘:\'-‘ K\I v‘..'%/: Phone: 321.‘69.041788.F8X2 321.690.1789

.2,’(\‘:‘5\'(.:\_ 1r::i E.\.p“;&é\‘{‘\\ 2023 .07 .05 Email: info@ptc-corp.com
Yop S T
gL OTYY \)
AT 15:42:13 -04'00" SAF METAL FABRICATION
* ° [UNLESS OTHERWISE SPECIFIED CONTRACT NO.
OINENSIONS ARE I NGHES MITSUBISHI CHEMICAL AMERICA
Robert J. Amoruso, P.E. FRACTONS  DEGMALS  AciEs — — ALPOLIC DIVISION
X0t 00
FL P.E. No. 49752 ALPOLIC and ALPOLIC/fr
DRSO AL Y ik — COMPOSITE WALL PANEL SYSTEMS
5 |RIAR/Z477 GPoE 7o B O OF TE 7 FINISH MS oz
PROJ NGNT SIZE | CAGE CODE DWGNO REV

7 [RJA[5/10/12]wom o wio e
3 | TH [1/10/12] amuson w0 peeL hore cumoes PRODUCTION MPCAOO2 U
REV. | BY DATE CHANGE DO NOT SCALE DRAWING SCALE SHOWNl |SHEET 9 OF 11




THE WOOD BUCK FRAME DETAILED IN THIS DRAWING
IS FOR TEST PURPOSES ONLY AND IS NOT INTENDED
AS A RECOMMENDATION FOR ACTUAL CONSTRUCTION.

6” X 16 GA.
GALV. STEEL STUD
16" 0.C.

*12 x 1 1/2” HWH TEK SCREW
16" 0.C. (FASTEN TO STUDS)

SHIM AS REQUIRED

37893 TEE

ALUM. EXTRUSION
] SHOP ATTACHED
TO PANEL (TYP.)

2 X10 WOOD BUCK FRAME
CONNECT FRAME WITH
(3) 5/16” DIA. LAG BOLTS

DOW CORNING *795 SILICONE
SEALANT & 3/4” DIA. OPEN CELL
BACKER ROD (TYPICAL)

1/2"

\4MM OR 6MM ALPOLIC

OR 4MM ALPOLIC/fr
ALUMINUM COMPOSITE
PANEL

#10 x 1” HWH TEK SCREW
16" 0.C. TYPICAL EACH PANEL

74"\ DETAIL
w SCALE: 6" = 1'

CENTERLINE OF —= l<— CENTERLINE OF
METAL STUD PANEL JOINT
"
6" x 16 GA.
GALV. STEEL STUD
16” 0.C.
#12 X 1 1/2” HWH TEK SCREW
| 16” 0.c. (FASTEN TO STUDS)
SHIM AS
REQUIRED
| >—<
L
juuns) L 37894 FEMALE
— ALUM. EXTRUSION
2 1/4" 37899 MALE SHOP ATTACHED
MIN. ALUM. EXTRUSION L ] TO PANEL (TYP.)
SHOP ATTACHED 1:_|/ E
TO PANEL (TYP.) —<&tH HISEHIR— | 116
s |
%/‘ \‘& ]
1/2"

#10 x 1" HWH TEK SCREW
16” 0.C. TYPICAL EACH PANEL

138082,
aee? 2,
N ARMES 40,
P QQSJ""-é',:,""a’l".O %,
0\ ‘,\-:;"\’\C v 8@%‘-"} )

Digitally signed

—— DOW CORNING *795 SILICONE
SEALANT & 3/4” DIA. OPEN CELL
BACKER ROD (TYPICAL)

< & )
a Oy . -.-611 m
§Q—-:‘ NO 49752 ...o..‘; by RO be rt J 150 D ETAl |_ PTC PRODESEg)E(SSIg}I\;SSROUP, LLC
Rt ta = U SCALE: 6" = 1’ A A | o\GWOOD, FLORIDA 32752
i M i Amoruso TN
= ':D‘- Q PAYE OF :5: Email: info@ptc-corp.com
w e VETAVE sUS .
5 SE OF 5 Date: 2023.07.05
.a%;{\‘: ~{OR DV\C"‘\Q" | ' SAF METAL FABRICATION
R R I O . .
a5y  ONAL Ee® 15:42:27 -04'00' [=rmmmere oo MITSUBISHI CHEMICAL AMERICA
s rscnons ALPOLIC DIVISION
Robert J. Amoruso, P.E. FRACTIONS ORI, 2GS — —
XXXt .005
FL P.E. No. 49752 ALPOLIC and ALPOLIC/fr
7 TRIAI6/13/23[(oue craee To wsusior CrEcAL Mderca,
6 RJA@ ENGINEERNG “vis | 11/11/02 COMPOSITE WALL PANEL SYSTEMS
5 RJA4/24./1 D oTweTE® PROJ MGMT SIZE | CAGE CODE DWG NO. REV
4 |RJA|B/10/12]ueonte 10 2010 rec MPCA0002 7
3|TH 1/10/12 EXTRUSION AND PANEL NOTE CHANGES
ReV. | BY DATE CHANGE DONOT SCALE DRAWING FOHETE SCALE SHOWNl |SHEET 10 OF 11




1.001"
243" —| |—

- —

.047
1.687" ! &

7347

— L— 094"

,]"_»

ACM TERMINATOR

EXTRUDED ALUMINUM 6063-T6

Die Data: #SAF—37893
Area = .265

Wt./Ft. = .318

Perim. = 5.483

Circle Size = 0-3

Ix = .078, ly = .011

Sx = .070, Sy = .018
Cgy = 1.116, Cgx = .628

—|  1.935"
| 997" H— "
388"  [L__J—

» t ;‘ 4
1.688 ]
, 1.024”
712

125" —{|— 1 1
ACM FEMALE

EXTRUDED ALUMINUM 6063-T6

Die Data: #SAF—37894

Area = .499
Wt./Ft. = .599
Perim. = 9.154
Circle Size = 0-3

Ix = .100, ly = .161
Sx = .086, Sy = .120
Cgy = 1.160, Cgx = 1.348

-

‘

— 1.552" |=—

RETAINER

EXTRUDED ALUMINUM 6063-T6

Die Data: #SAF—38499A
Area = .4610

Wt./Ft. = .542

Perim. = 9.4387

Circle Size = 0-3

[x 1262
117

o
©
o

<

[l

r .189”" ‘

.914”
.688”

Tosd L) )

1.288”"
735" ‘

1—»|—— 125"

ACM MALE

EXTRUDED ALUMINUM 6063-T6

Die Data: #SAF—37899
Area = .234

Wt./Ft. = .281

Perim. = 4.646

Circle Size = 0-3

Ix = .039, ly = .012

Sx = .048, Sy = .019
Cgy = .819, Cgx = .633

st Digitally signed

\) R’
\\\‘,\ éi};%ui:b A0,

—|~ .062” 2‘5,,
r .188” 062" ‘
1 1.25”’
1.75”
PANEL STIFFENER

EXTRUDED ALUMINUM 6063-T6

Die Data: #SAF—385008B

Area = .325
Wt./Ft. = .390
Perim. = 9.749
Circle Size = 0-3
= .081, ly = .049
Sx = .120, Sy = .056
Cgy = .676, Cgx = .886

e, b
CENgx%% by Robert )
s Date:
PTC PRODUCT DESIGN GROUP, LLC
2 O 2 3 O 7 O 5 A——— | ,c,1000 FLOROA T
¢ * Y o 4 = FBPE CA. NO. 25035
1 1 Phone: 321.690.1788,Fax: 321.690.1789
1 5 042 . 3 9 _04 OO Email: info@ptc-corp.com
SAF METAL FABRICATION
[UNLESS OTHERWISE SPECIFIED CONTRACT NO.
Robert J. Amoruso, P.E. DIMENSIONS ARE IN INCHES MITSUBISHI CHEMICAL AMERICA
FL P.E. No. 49752 FRACTIONS ~ DECIMALS ~ ANGLES ALPOL'C D|V|S|0N
* e o : s £ m APPROVALS DATE
7 [RJAT6/13/23 |m|:u||¢n|n-|umm "APOLC IMSOH MATEm;l & 6MM ALPOLIC DRAWN ALPOLIC and ALPOLIC/fr
6 [RJA [ 4/14/17 [mue omce m wsmsn e onposms mercs & 4MM ALPOLIC/r ENGNEERING COMPOSITE WALL PANEL SYSTEMS
5 | RIA | 4/24/14 |veowe To corsm o o e Foc EIVET MS 11/11/02
4 |RJA [ 8/10/12 [menmnm PROJ MGMT SIZE | CAGE CODE BWG NO. REV
3 | TH | 1/10/12 | omemi Ao vhe wre owes PRODUCTION MPCAO002 7
REV. [ BY | DaTE CHANGE DO NOT SCALE DRAWING SCALE_sHOWN] [seer 11 OF 11




		2023-07-05T15:40:24-0400
	Robert J Amoruso


		2023-07-05T15:40:41-0400
	Robert J Amoruso


		2023-07-05T15:40:56-0400
	Robert J Amoruso


		2023-07-05T15:41:07-0400
	Robert J Amoruso


		2023-07-05T15:41:20-0400
	Robert J Amoruso


		2023-07-05T15:41:32-0400
	Robert J Amoruso


		2023-07-05T15:41:47-0400
	Robert J Amoruso


		2023-07-05T15:42:00-0400
	Robert J Amoruso


		2023-07-05T15:42:13-0400
	Robert J Amoruso


		2023-07-05T15:42:27-0400
	Robert J Amoruso


		2023-07-05T15:42:39-0400
	Robert J Amoruso




